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Stand Alone Mcqgs

1. Reproduction is essential for living

organisms to order to


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_52jMfhGgAmIx

A. keep the individual organism alive.

B. fulfill their energy requirement.

C. maintain growth.

D. continue the species generation after

generation.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_52jMfhGgAmIx

2. A feature of reproduction that is common to

Amoeba, Spirogyra and Yeast are that

A. they reproduce asexually.

B. they are all unicellular.

C. they reproduce only sexually.

D. they are all multicellular.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_WzG6HfBNG5J7
https://dl.doubtnut.com/l/_RIJgSDhObY1t

3. In Spirogyra, asexual reproduction takes

place by

A. breaking up of filaments into smaller

bits.

B. division of a cell into two cells.

C. division of a cell into many cells.

D. formation of young cells from older cells.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_RIJgSDhObY1t
https://dl.doubtnut.com/l/_rcOxiVjJdTVT

4. The ability of a cell to divide into several

cells during reproduction in Plasmodium is

called

A. budding

B. reduction division

C. binary fission

D. multiple fission

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_rcOxiVjJdTVT

5. Factors responsible for the rapid spread of
bread mould on slices of bread are

(i) large number of spores

(i) availability of moisture and nutrients in
bread

(iii) presence of tubular branched hyphae

(iv) formation of round shaped sporangia

A. (i) and (iii)

B. (ii) and (iv)

C. (i) and (ii)


https://dl.doubtnut.com/l/_n81xh8f6tzW2

D. (iii) and (iv)

Answer: C

° Watch Video Solution

6. In the list of organisms given below, those
that reproduce by the asexual method are
(i) banana (ii) dog

(i) yeast (iv) Amoeba

A. (ii) and (iv)


https://dl.doubtnut.com/l/_n81xh8f6tzW2
https://dl.doubtnut.com/l/_kle4siny91CH

B. (i), (iii) and (iv)

C. (i) and (iv)

D. (i), (i) and (iv)

Answer: B

o Watch Video Solution

7. Offspring formed by asexual method of
reproduction have greater similarity among
themselves because

(i) Asexual reproduction involves only one


https://dl.doubtnut.com/l/_kle4siny91CH
https://dl.doubtnut.com/l/_TRvD7dsP10f0

parent

(i) Asexual reproduction does not involve
gametes

(iii) Asexual reproduction occurs before sexual
reproduction

(iv) Asexual reproduction occurs after sexual

reproduction

A. (i) and (ii)

B. (i) and (iii)

C. (i1) and (iv)

D. (iii) and (iv)


https://dl.doubtnut.com/l/_TRvD7dsP10f0

Answer: A

o Watch Video Solution

8. Vegetative propagation refers to formation

of new plants from

A. stem, roots and flowers.

B. stem, roots and leaves.

C. stem, flowers and fruits.

D. stem, leaves and flowers.


https://dl.doubtnut.com/l/_TRvD7dsP10f0
https://dl.doubtnut.com/l/_6ioi4T1aRVXf

Answer: B

o Watch Video Solution

9. Asexual reproduction takes place through

budding in

A. Amoeba

B. Yeast

C. Plasmodium

D. Leishmania


https://dl.doubtnut.com/l/_6ioi4T1aRVXf
https://dl.doubtnut.com/l/_zskxfTikoq5r

Answer: B

o Watch Video Solution

10. Which of the following are examples of

vegetative reproduction in plants?

A.Tomato, lady's finger, onion and

cauliflower

B. Potato, ginger, onion and sugarcane

C. Cauliflower, onion, potato and tomato


https://dl.doubtnut.com/l/_zskxfTikoq5r
https://dl.doubtnut.com/l/_hzD7sEzA2dSQ

D.Lady's finger, onion, ginger and

sugarcane

Answer: B

o Watch Video Solution

11. In a flower, the parts that produce male and

female gametes (germ cells) are

A. stamen and anther

B. filament and stigma


https://dl.doubtnut.com/l/_hzD7sEzA2dSQ
https://dl.doubtnut.com/l/_gQzcwLE4cN1t

C. anther and ovary

D. stamen and style

Answer: C

o Watch Video Solution

12. Which of the following is the correct
sequence of events of sexual reproduction in a

flower?


https://dl.doubtnut.com/l/_gQzcwLE4cN1t
https://dl.doubtnut.com/l/_qiXMD2FjF4fn

A. Pollination, fertilisation, seedling,

embryo

B. Seedling, embryo, fertilisation,

pollination

C. Pollination, fertilisation, embryo,

seedling

D. Embryo, seedling, pollination,

fertilisation

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_qiXMD2FjF4fn

13. The correct sequence of reproductive

stages seen in flowering plants is

A. gametes, zygote, embryo, seedling

B. zygote, gametes, embryo, seedling

C. seedling, embryo, zygote, gametes

D. gametes, embryo, zygote, seedling

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_qiXMD2FjF4fn
https://dl.doubtnut.com/l/_GjM7Np77TuGN

14. Which of the following statements are true
for flowers?

(i) Flowers are always bisexual.

(i) They are the sexual reproductive organs.
(i) They are produced in all groups of plants.

(iv) After fertilisation they give rise to fruits.

A. (i) and (iv)

B. (ii) and (iii)

C. (i) and (iii)

D. (ii) and (iv)


https://dl.doubtnut.com/l/_NOuxxK3ojgW0

Answer: D

o Watch Video Solution

15. A student while observing an embryo of a
gram seed listed various parts of the embryo
as listed below: Testa, Micropyle, Cotyledon,
Tegmen, Plumule, Radicle.

On examining the list the teacher commented
that only three parts are correct. Select these

three correct parts:


https://dl.doubtnut.com/l/_NOuxxK3ojgW0
https://dl.doubtnut.com/l/_lhETuslkhQ88

A. Cotyledon, Testa, Plumule

B. Cotyledon, Plumule, Radicle

C. Cotyledon, Tegmen, Radicle

D. Cotyledon, Micropyle, Plumule

Answer: B

o Watch Video Solution

16. Characters that are transmitted from
parents to offspring during reproduction

show


https://dl.doubtnut.com/l/_lhETuslkhQ88
https://dl.doubtnut.com/l/_HnXYVoWmV82P

A. only similarities with parents

B. only variations with parents

C.both similarities and variations with

parents

D. neither similarities nor variations

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_HnXYVoWmV82P

17. Length of pollen tube depends on the

distance between

A. pollen grain and upper surface of stigma

B. pollen grain on upper surface of stigma

and ovule

C. pollen grain in anther and upper surface

of stigma

D. upper surface of stigma and lower part

of style


https://dl.doubtnut.com/l/_TNK0PFYM6Rcq

Answer: B

o Watch Video Solution

18. The number of chromosomes in parents
and offsprings of a particular species remains

constant due to

A.doubling of chromosomes after zygote

formation

B. halving of chromosomes during gamete

formation


https://dl.doubtnut.com/l/_TNK0PFYM6Rcq
https://dl.doubtnut.com/l/_DmPGlGMGCnNa

C.doubling of chromosomes after gamete

formation

D. halving of chromosomes after gamete

formation

Answer: B

o Watch Video Solution

19. During adolescence, several changes occur
in the human body. Mark one change

associated with sexual maturation in boys.


https://dl.doubtnut.com/l/_DmPGlGMGCnNa
https://dl.doubtnut.com/l/_Cz1UeeIGOp3d

A. Loss of milk teeth

B. Increase in height

C. Cracking of voice

D. Weight gain

Answer: C

o Watch Video Solution

20. In human females, an event that reflects

onset of reproductive phase is


https://dl.doubtnut.com/l/_Cz1UeeIGOp3d
https://dl.doubtnut.com/l/_FnfEF6OeA2dl

A. growth of body

B. changes in hair pattern

C. change in voice

D. menstruation

Answer: D

o Watch Video Solution

21. In human males, the testes lie in the

scrotum, because it helps in the


https://dl.doubtnut.com/l/_FnfEF6OeA2dl
https://dl.doubtnut.com/l/_bApEH6fylDVM

A. process of mating.

B. formation of sperm.

C. easy transfer of gametes.

D. all of the above.

Answer: B

o Watch Video Solution

22. Which among the following is not the
function of testes at puberty?

(i) Formation of germ cells


https://dl.doubtnut.com/l/_bApEH6fylDVM
https://dl.doubtnut.com/l/_xRSsliDUPI80

(ii) Secretion of testosterone

(iii) Development of placenta

(iv) Secretion of estrogen

A. (i) and (ii)

B. (ii) and (iii)

C. (iii) and (iv)

D. (i) and (iv)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_xRSsliDUPI80
https://dl.doubtnut.com/l/_bwlpAFND1YLE

23. Which of these statement is correct about

reproduction ?

A. It keeps the individual organism alive

B. It fulfills their energy requirement

C. It maintains the growth

D. It continue the species generation after

generation

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_bwlpAFND1YLE

24. The correct sequence of organs in the male

reproductive system for transport of sperms is

A. testis — vas deferens — urethra

B. testis — ureter — urethra

C.testis — urethra — ureter

D. testis — vas deferens — ureter

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_p8YMIJtFsNAO
https://dl.doubtnut.com/l/_I8M7KUZPSpTM

25. Which among the following diseases is not

sexually transmitted?

A. Syphilis

B. Hepatitis

C. HIV - AIDS

D. Gonorrhoea

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_I8M7KUZPSpTM

26. Which of the following is not a part of the

female reproductive system in human beings?

A. Ovary

B. Uterus

C. Vas deferens

D. Fallopian tube

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_fO9zpZ1YDl08

Assertion And Reason Based Mcqs

1. Assertion (A): Amoeba reproduces by binary

fission.

Reason ( R): All unicellular organisms

reproduce asexually.

A.Both A and R are true and R is the

correct explanation of A.

B.Both A and R are true but R is NOT the

correct explanation of A.

C.Ais true but R is false.


https://dl.doubtnut.com/l/_IB7pF2F4CTcP

D. Ais false and R is true.

Answer: A

° Watch Video Solution

2. Assertion: Many plants are propagated
vegetatively even though they bear seeds.
Reason: Potatoes multiply by tubers, apple by

cutting etc.


https://dl.doubtnut.com/l/_IB7pF2F4CTcP
https://dl.doubtnut.com/l/_l5KU1TepAbYM

A.Both A and R are true and R is the

correct explanation of A.

B. Both A and R are true but R is NOT the

correct explanation of A.

C.Ais true but R is false.

D. Ais false and R is true.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_l5KU1TepAbYM

3. Assertion (A): Characteristics of parental
plants can be preserved through asexual
reproduction.

Reason ( R): Vegetative reproduction involves

only mitosis.

A.Both A and R are true and R is the

correct explanation of A.

B. Both A and R are true but R is NOT the

correct explanation of A.

C.Ais true but R is false.


https://dl.doubtnut.com/l/_8IGKF55dokwB

D. Ais false and R is true.

Answer: A

° Watch Video Solution

4. Assertion (A): Plasmodium reproduces by
multiple fission.
Reason ( R): Multiple fission is a type of

asexual reproduction.


https://dl.doubtnut.com/l/_8IGKF55dokwB
https://dl.doubtnut.com/l/_YeXbPpti1Y2D

A.Both A and R are true and R is the

correct explanation of A.

B. Both A and R are true but R is NOT the

correct explanation of A.

C.Ais true but R is false.

D. Ais false and R is true.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_YeXbPpti1Y2D

5. Assertion (A): DNA copying is necessary
during reproduction.

Reason ( R): DNA copying leads to the
transmission of characters from parents to

offspring.

A.Both A and R are true and R is the

correct explanation of A.

B. Both A and R are true but R is NOT the

correct explanation of A.

C.Ais true but R is false.


https://dl.doubtnut.com/l/_wZJx8fOHQGEA

D. Ais false and R is true.

Answer: A

° Watch Video Solution

6. Formation of new individual from a fertilized

egg is known as:

A.Both A and R are true and R is the

correct explanation of A.


https://dl.doubtnut.com/l/_wZJx8fOHQGEA
https://dl.doubtnut.com/l/_Z1UFQ0NiJHvK

B. Both A and R are true but R is NOT the

correct explanation of A.

C.Ais true but R is false.

D. Ais false and R is true.

Answer: C

o Watch Video Solution

7. Assertion (A): Unisexual flowers have
separate male and female flowers whereas a

typical monocot embryo comprises an


https://dl.doubtnut.com/l/_Z1UFQ0NiJHvK
https://dl.doubtnut.com/l/_aKaMWB7CpLKv

embryonal axis with single cotyledon.

Reason ( R): Cucumber, pumpkin and water

melon are example of unisexual flowers.

A.Both A and R are true and R is the

correct explanation of A.

B. Both A and R are true but R is NOT the

correct explanation of A.

C.Ais true but R is false.

D. A is false and R is true.

Answer: B



https://dl.doubtnut.com/l/_aKaMWB7CpLKv

\ ° Watch Video Solution

8. Assertion (A): Double fertilisation is unique

to angiosperms.

Reason ( R): Triple fusion occurs in asexual

reproduction.

A.Both A and R are true and R is the

correct explanation of A.

B. Both A and R are true but R is NOT the

correct explanation of A.


https://dl.doubtnut.com/l/_aKaMWB7CpLKv
https://dl.doubtnut.com/l/_AWcerTDQojxJ

C.Ais true but R is false.

D. A is false and R is true.

Answer: C

o Watch Video Solution

9. Assertion: Fertilization results in formation
of zygote.
Reason: Zygote divides several times to form

an embryo.


https://dl.doubtnut.com/l/_AWcerTDQojxJ
https://dl.doubtnut.com/l/_pRFiB6RNMNWZ

A.Both A and R are true and R is the

correct explanation of A.

B. Both A and R are true but R is NOT the

correct explanation of A.

C.Ais true but R is false.

D. Ais false and R is true.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_pRFiB6RNMNWZ

10. Assertion (A): Sexual reproduction
increases genetic diversities and plays a role in
origin of new species.

Reason ( R): Sexual reproduction involves

formation of gametes and fusion of gametes.

A.Both A and R are true and R is the

correct explanation of A.

B. Both A and R are true but R is NOT the

correct explanation of A.

C.Ais true but R is false.


https://dl.doubtnut.com/l/_biLbOYvydWRK

D. Ais false and R is true.

Answer: A

° Watch Video Solution

1. Assertion (A): In human male, testes are
extra abdominal organs which are present
inside scrotum.

Reason ( R): Scrotum has a relatively lower
temperature needed for the production and

storage of sperms.


https://dl.doubtnut.com/l/_biLbOYvydWRK
https://dl.doubtnut.com/l/_3SIfCGkrtLlC

A.Both A and R are true and R is the

correct explanation of A.

B. Both A and R are true but R is NOT the

correct explanation of A.

C.Ais true but R is false.

D. Ais false and R is true.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_3SIfCGkrtLlC

12. Assertion (A): At puberty, in boys, voice

begins to crack and thick hair grows on face.

Reason ( R): At puberty, there is decreased

secretion of testosterone in boys.

A.Both A and R are true and R is the

correct explanation of A.

B.Both A and R are true but R is NOT the

correct explanation of A.

C.Ais true but R is false.

D. Ais false and R is true.


https://dl.doubtnut.com/l/_H6qgz8yVSPyc

Answer: C

o Watch Video Solution

13. Assertion (A): Surgical methods are most
effective methods of contraception.
Reason ( R): Surgical method blocks gametes

transport and hence prevent fertilisation.

A.Both A and R are true and R is the

correct explanation of A.


https://dl.doubtnut.com/l/_H6qgz8yVSPyc
https://dl.doubtnut.com/l/_BreEZBfcASrL

B. Both A and R are true but R is NOT the

correct explanation of A.

C.Ais true but R is false.

D. Ais false and R is true.

Answer: A

° Watch Video Solution

Case Based Mcqgs


https://dl.doubtnut.com/l/_BreEZBfcASrL

1. The growing size of the human population is
a cause of concern for all people. The rate of
birth and death in a given population will
determine its size. Reproduction is the process
by which organisms increase their population.
The process of sexual maturation for
reproduction is gradual and takes place while
general body growth is still going on. Some
degree of sexual maturation does not
necessarily mean that the mind or body is
ready for sexual acts or for having and

bringing up children. Various contraceptive


https://dl.doubtnut.com/l/_SARoda8sI5tR

devices are being used by human beings to
control the size of population.
What are common signs of sexual maturation
in boys is:

A. Broadening of shoulders

B. Development of mammary glands

C. Broadening of waist

D. High pitch of voice

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_SARoda8sI5tR

2. The growing size of the human population
is a cause of concern for all people. The rate of
birth and death in a given population will
determine its size. Reproduction is the process
by which organisms increase their population.
The process of sexual maturation for
reproduction is gradual and takes place while
general body growth is still going on. Some
degree of sexual maturation does not
necessarily mean that the mind or body is

ready for sexual acts or for having and


https://dl.doubtnut.com/l/_SARoda8sI5tR
https://dl.doubtnut.com/l/_H1tn9diuO8jS

bringing up children. Various contraceptive

devices are being used by human beings to

control the size of population.

Common sign of sexual maturation in girls is:

A. Low pitch voice

B. Appearance moustache and beard

C. Development of mammary gland

D. Broadening of shoulders

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_H1tn9diuO8jS

3. The growing size of the human population
is a cause of concern for all people. The rate of
birth and death in a given population will
determine its size. Reproduction is the process
by which organisms increase their population.
The process of sexual maturation for
reproduction is gradual and takes place while
general body growth is still going on. Some
degree of sexual maturation does not
necessarily mean that the mind or body is

ready for sexual acts or for having and


https://dl.doubtnut.com/l/_H1tn9diuO8jS
https://dl.doubtnut.com/l/_qJ7ewsUHBuG2

bringing up children. Various contraceptive
devices are being used by human beings to
control the size of population.

Which contraceptive method changes the

hormonal balance of the body?

A. Condoms

B. Diaphragms

C. Oral pills

D. Both (a) and (b)

Answer: C

| 8


https://dl.doubtnut.com/l/_qJ7ewsUHBuG2

4. The growing size of the human population
is a cause of concern for all people. The rate of
birth and death in a given population will
determine its size. Reproduction is the process
by which organisms increase their population.
The process of sexual maturation for
reproduction is gradual and takes place while
general body growth is still going on. Some
degree of sexual maturation does not

necessarily mean that the mind or body is


https://dl.doubtnut.com/l/_qJ7ewsUHBuG2
https://dl.doubtnut.com/l/_VOtzqloXfwil

ready for sexual acts or for having and
bringing up children. Various contraceptive
devices are being used by human beings to
control the size of population.

Write two factors that determine the size of a

population.

o Watch Video Solution

5. The growing size of the human population
is a cause of concern for all people. The rate of

birth and death in a given population will


https://dl.doubtnut.com/l/_VOtzqloXfwil
https://dl.doubtnut.com/l/_ONGELh8NwcYn

determine its size. Reproduction is the process
by which organisms increase their population.
The process of sexual maturation for
reproduction is gradual and takes place while
general body growth is still going on. Some
degree of sexual maturation does not
necessarily mean that the mind or body is
ready for sexual acts or for having and
bringing up children. Various contraceptive
devices are being used by human beings to
control the size of population.

What should be maintained for a healthy

society?


https://dl.doubtnut.com/l/_ONGELh8NwcYn

A. rate of birth & death rate

B. male & female sex ratio

C. child sex ratio

D. None of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ONGELh8NwcYn

6. Study the diagram given below and answer

2 &
066¢

Identify the above process.

A. Binary fission
B. Budding
C. Fragmentation

D. Regeneration


https://dl.doubtnut.com/l/_IAzWmwvgumNR

Answer: B

o Watch Video Solution

7.Study the diagram given below and answer

06060

Which organism uses the above method for

reproduction?

A. Yeast


https://dl.doubtnut.com/l/_IAzWmwvgumNR
https://dl.doubtnut.com/l/_meKJPrzVgCXW

B. Amoeba

C. Spirogyra

D. Leishmania

Answer: A

o Watch Video Solution

8. Study the diagram given below and answer

06060


https://dl.doubtnut.com/l/_meKJPrzVgCXW
https://dl.doubtnut.com/l/_cgCe5Nx4wpJQ

An organism capable of reproducing by two
asexual reproduction methods one similar to
the reproduction in yeast and the other
similar to the reproduction in Planaria is:

A. Spirogyra

B. Hydra

C. Bryophyllum

D. Paramecium

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_cgCe5Nx4wpJQ

9. Study the diagram given below and answer
Hide ;I‘_r,
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A Planaria worm is cut horizontally in the
middle into two halves P and Q such that the
part P contains the whole head of the worm.
Another Planaria worm is cut vertically into
two halves R and S in such a way that both the
cut pieces R and S contain half head each.

Which of the cut pieces of the two Planaria


https://dl.doubtnut.com/l/_cgCe5Nx4wpJQ
https://dl.doubtnut.com/l/_8ZpkpdtkULBJ

worms could regenerate to form the complete

respective worms?

A.Only P

B.OnlyRand S

C.P,RandS

D.P,Q,Rand S

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_8ZpkpdtkULBJ

10. Which among the following statements are
true for sexual reproduction in flowering
plants?

(1) It requires two types of gametes.

(i) Fertilisation is a compulsory event.

(iii) It always results in formation of zygote.

(iv) Offspring formed are clones.

A. (1) and (4)

B. (1), (2) and (3)

C.(1),(2) and (4)


https://dl.doubtnut.com/l/_Xgh3lXQutBv1

D. (2), (3) and (4)

Answer: B

o Watch Video Solution

11. Study the process depicted in the picture

given below

< W

1. Parent cell 2 Wucleus divides

G W <

3 Cytoplasm divides 4. Two daughter cells


https://dl.doubtnut.com/l/_Xgh3lXQutBv1
https://dl.doubtnut.com/l/_og7pbdSUurbP

Which of these organisms divides by the

above process?

A. Amoeba

B. Spirogyra

C. Leishmania

D. Yeast

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_og7pbdSUurbP

12. The following figure shows the

Stigma

Style

Ovary
Thalamus



https://dl.doubtnut.com/l/_92gw2IcW68jz

A. Two daughter cells are produced.

B.Many daughter cells are formed

simultaneously.

C. Two types of gametes fuse together

D. None of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_92gw2IcW68jz

13. Study the process depicted in the picture

given below

<L O

1. Parent cell 2. MNucleus divides
3 Cytoplasm divides 4. Two daughter cells

Which of the following statement is correct

about the above type of reproduction?

A. It involves two individuals.

B. It involves a mature parent cell.


https://dl.doubtnut.com/l/_oFYw3r8PNSnt

C.It involves union of two types of

gametes.

D. All of these

Answer: B

o Watch Video Solution

14. What is the figure given below showing in

particular ?


https://dl.doubtnut.com/l/_oFYw3r8PNSnt
https://dl.doubtnut.com/l/_SbBosrkPi7Ty

A. Splitting into two cells during division

can take place in any plane.

B.Binary fission occurs in a definite

orientation in relation to the whip like

structure.

C. Both of these


https://dl.doubtnut.com/l/_SbBosrkPi7Ty

D. None of these

Answer: B

o Watch Video Solution

15. Study the process depicted in the picture

given below

O Y

1. Parent cell 2 Nucleus divides
3 Cytoplasm divides 4. Two daughter cells

Which of these are the characteristics of


https://dl.doubtnut.com/l/_SbBosrkPi7Ty
https://dl.doubtnut.com/l/_H2T3WVvS8WXb

vegetative reproduction?
(i) Involves two individuals
(i) Daughter cells are genetically identical to
the parent.
(iii) The cell division is only mitotic.
A. (1) and (ii) only
B. (i) and (iii) only
C. (i) and (iii) only

D. All of these

Answer: C

| 8


https://dl.doubtnut.com/l/_H2T3WVvS8WXb

16. Study the given diagram

The above diagram depicts:

A. Spore formation in Rhizopus

B. Fragmentation in Spirogyra

C. Binary fission in Amoeba


https://dl.doubtnut.com/l/_H2T3WVvS8WXb
https://dl.doubtnut.com/l/_VoSCXeJLTFKZ

D. Spore formation in Yeast

Answer: A

o Watch Video Solution

17. Study the given diagram



https://dl.doubtnut.com/l/_VoSCXeJLTFKZ
https://dl.doubtnut.com/l/_3Co2iTA0YLsA

'Blobs' that develop at the tips of the non-

reproductive thread is known as:

A. Hyphae

B. Sporangia

C. Spores

D. Pollens

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_3Co2iTA0YLsA

18. Study the given diagram

The thread like non-reproductive structures is

A. Hyphae

B. Rhizoids

C. Sporangium

D. Sporangiophores


https://dl.doubtnut.com/l/_fPoBY8HtiaBf

Answer: A

o Watch Video Solution

19. Study the given diagram

On maturation sporangia of given organism

bursts and releases:


https://dl.doubtnut.com/l/_fPoBY8HtiaBf
https://dl.doubtnut.com/l/_R099hwGMzn5q

A. Pollens

B. Spores

C. Seeds

D. None of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_R099hwGMzn5q

20. Identify the given diagrams

Actin binding sites
ATP binding sites

A. Balsam

B. Fern

C. Mango

D. Hibiscus

Answer: B


https://dl.doubtnut.com/l/_e4QrmqJKJH3B

° Watch Video Solution

21. The given diagram represent the structure

of a flower. Study the structure

The labels A, B and C are

A. Anther, Style and Ovary respectively.


https://dl.doubtnut.com/l/_e4QrmqJKJH3B
https://dl.doubtnut.com/l/_WbmaGOAaEHBK

B. Stamen, Stigma and Ovule respectively.

C. Anther, Style and Stigma respectively.

D. Stamen, Fragment and Ovary

respectively.

Answer: A

o Watch Video Solution

22. The given diagram represent the structure

of a flower. Study the structure


https://dl.doubtnut.com/l/_WbmaGOAaEHBK
https://dl.doubtnut.com/l/_iN0uiuCHWJDh

Which of these is the function of part labelled

as C?

A. Contains ovules which develop into

seeds.

B. Attracts pollinators.

C. Protect rising buds.


https://dl.doubtnut.com/l/_iN0uiuCHWJDh

D. Receive pollens

Answer: A

o Watch Video Solution

23. The given diagram represent the structure

of a flower. Study the structure



https://dl.doubtnut.com/l/_iN0uiuCHWJDh
https://dl.doubtnut.com/l/_ln6SnNrDMwjL

When an insect sits on the flower of a plant
then some particles from the little stalks in
the flowers sticks to its body and when this
insect sits on the flower of another plant, the
particles get deposited in that flower. What

are these particles?

A. Dust

B. Pollens

C. Grains

D. Seeds

Answer: B


https://dl.doubtnut.com/l/_ln6SnNrDMwjL

° Watch Video Solution

24. The given diagram represent the structure

of a flower. Study the structure

A student decides to study the impact of
removing certain flower parts on fruit

formation in plant species X. He chooses three


https://dl.doubtnut.com/l/_ln6SnNrDMwjL
https://dl.doubtnut.com/l/_ZgEK51I4LIB0

separate plants that are growing in the same
plot under uniform conditions. The data is

given in the table below.

Plants | Part Removed |I'I'I.pl-l:_lnnfmmll:|ﬂt'l_.
1. |Anther (30% less fruit formed
than average plants in
the plot
L |[Stigma No fruit formed
3. [Petal No significant impact

Which of the following can be inferred from

the above data?

A. Anthers and stigmas are crucial in sexual

reproduction in species X.


https://dl.doubtnut.com/l/_ZgEK51I4LIB0

B. Pollen grains are probably unable to

germinate if they land on other parts of

the carpel besides the stigma.

C. Species X is likely to be wind-pollinated.

D. Species X relies completely on cross-

pollination.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ZgEK51I4LIB0

25. The given diagram represent the structure

of a flower. Study the structure

Which of these events does not take place

after fertilisation ?

A. Formation of zygote.

B. Development of thick coat around ovule.


https://dl.doubtnut.com/l/_bTWAdfF1KwD2

C. Ovary ripens to form fruit.

D. Transfer of pollen from anther to stigma

of a flower.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_bTWAdfF1KwD2

26. Study the diagram given below

The part labelled as A in the diagram is:


https://dl.doubtnut.com/l/_8ezhcUmNkIqH

A. Dust

B. Germs

C. Pollen

D. Pollinators

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_8ezhcUmNkIqH

27. Study the diagram given below

A



https://dl.doubtnut.com/l/_uyge0slMJP5o

Which of the following statement is incorrect

about pollination?

A. It proceeds fertilization.

B. It follows fertilization.

C.It brings male and female gametes

closer.

D. It introduces variations in plants.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_uyge0slMJP5o
https://dl.doubtnut.com/l/_DldqCmdl1gIP

28. Study the diagram given below

A

™

The importance of the part "C"is :


https://dl.doubtnut.com/l/_DldqCmdl1gIP

A. It carries female gametes.

B. It carries male gametes.

C. It carries food for the seeds.

D. None of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_DldqCmdl1gIP

29. Study the diagram given below



https://dl.doubtnut.com/l/_P2GkVpk4ztlP

What happens to the part marked 'D' after

fertilization is over?

A. Converted into seed.

B. Converted into fruit

C. Converted into embryo

D. Converted into flower.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_P2GkVpk4ztlP

30. Study the diagram given below



https://dl.doubtnut.com/l/_1MDVynjbY8Ha

Choose the incorrect statements about the

reproductive system of a plant?

A. The male organs are the stamens.

B. The anthers produce female gametes.

C.The male gametes are present in the

pollen grains.

D.A male gamete from a pollen grain

fertilize a female gamete in an ovule.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_1MDVynjbY8Ha

31. Study the diagram given below

The part labelled as A is:

A. Dust


https://dl.doubtnut.com/l/_1MDVynjbY8Ha
https://dl.doubtnut.com/l/_DrvFp5dF4ntR

B. Germs

C. Pollen

D. Pollinators

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_DrvFp5dF4ntR

32. Study the diagram given below

The role of part labelled as B is:

A. Transport of male gametes to the ovary.


https://dl.doubtnut.com/l/_pw4TIGdJb945

B. Transport of female gametes to the

ovary

C. Contains ovules which develop into

seeds.

D. All of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_pw4TIGdJb945

33. Study the diagram given below

How many male gametes are produced by

each pollen grain?

A. One


https://dl.doubtnut.com/l/_FGJzoQXRPzhT

B. Two

C.Three

D. Four

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_FGJzoQXRPzhT

34. Study the diagram given below

What happens to the label A which falls on a

suitable stigma?


https://dl.doubtnut.com/l/_xvsPHZ2l56FK

A. Pollen grain gradually disintegrates.

B. Pollen grain directly reaches the embryo

sac.

C.Pollen grain starts germinating and

forms a pollen tube.

D. Pollen grain changes into ovules and

then to fruit.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_xvsPHZ2l56FK
https://dl.doubtnut.com/l/_JcdJWW8WgKK0

35. Study the diagram given below

In the given diagram showing the carpel of an

insect pollinated flower, the most likely reason


https://dl.doubtnut.com/l/_JcdJWW8WgKK0

for the non-germination of pollen grain Z is:



https://dl.doubtnut.com/l/_JcdJWW8WgKK0

A. Pollen grains X and V were brought to

the stigma earlier, therefore, their

germination inhibited the germination

of pollen grain Z.

B. Pollen grain Z was brought to the flower

by wind, while pollen grains X and Y were

brought to the flower by insects.

C.Pollen grain Z lacks protrusions that

allow it to adhere properly onto the

stigma surface.


https://dl.doubtnut.com/l/_JcdJWW8WgKK0

D. Pollen grain Z comes from a flower of an

incompatible species.

Answer: D

° Watch Video Solution

Self Assessment 1 Multiple Choice Questions

1. Which of these life processes of an organism

helps in the growth of its population?


https://dl.doubtnut.com/l/_JcdJWW8WgKK0
https://dl.doubtnut.com/l/_mPY1Q3kOzinq

A. Nutrition

B. Respiration

C. Reproduction

D. Excretion

Answer:

° Watch Video Solution

2. Hydra reproduces | by II_

A. I-Sexually, lI- budding


https://dl.doubtnut.com/l/_mPY1Q3kOzinq
https://dl.doubtnut.com/l/_U96VCL8kkbEx

B. I-Sexually, II- Regeneration

C. I- Asexually, II- Budding

D. |- Asexually, Il- Regeneration

Answer:

o Watch Video Solution

3. Which of these is a disadvantage of

vegetative reproduction?

A. Offspring are genetically identical.


https://dl.doubtnut.com/l/_U96VCL8kkbEx
https://dl.doubtnut.com/l/_GRpLN2wIaKAH

B.It is rapid and economical method of

reproduction

C. It produces seedless fruits.

D. Disease of parent plant gets transferred

to the offsprings.

Answer:

° Watch Video Solution

Self Assessment 1 Passage Diagram Based

Questions



https://dl.doubtnut.com/l/_GRpLN2wIaKAH

1. Identify the process depicted in the picture

given below:

1. Parent cell 2. Nucleus divides

A. Name the organism that divides by the

above process.

B. How the above process is different from

multiple fission.


https://dl.doubtnut.com/l/_24ILid7uW6fz

C.State the type of reproduction in the

above process and define it.

D. Differentiate between fission in above

organism and Leishmania.

Answer:

° Watch Video Solution

Self Assessment 1 Assertion And Reason Type

Questions



https://dl.doubtnut.com/l/_24ILid7uW6fz

1. Assertion (A): Plasmodium reproduces by

multiple fission.

Reason (R) : Multiple fission is a type of

asexual reproduction.

A. Both assertion (A) and reason (R) are

true and reason (R) is the correct

explanation of assertion (A).

B. Both assertion (A) and reason (R) are

true but reason (R) is not the correct

explanation of assertion (A).


https://dl.doubtnut.com/l/_hE0ifqPKJBEe

C. Assertion (A) is true but reason (R) is

false.

D. Assertion (A) is false but reason (R) is

true

Answer:

o Watch Video Solution

2. Assertion: Many plants are propagated

vegetatively even though they bear seeds.


https://dl.doubtnut.com/l/_hE0ifqPKJBEe
https://dl.doubtnut.com/l/_o6LKymC5nIqn

Reason: Potatoes multiply by tubers, apple by

cutting etc.

A. Both assertion (A) and reason (R) are

true and reason (R) is the correct

explanation of assertion (A).

B. Both assertion (A) and reason (R) are

true but reason (R) is not the correct

explanation of assertion (A).

C. Assertion (A) is true but reason (R) is

false.


https://dl.doubtnut.com/l/_o6LKymC5nIqn

D. Assertion (A) is false but reason (R) is

true

Answer:

° Watch Video Solution

Self Assessment 1 Very Short Answer Type

Questions

1. What happens when accidently, Planaria gets

cut into many pieces ?



https://dl.doubtnut.com/l/_o6LKymC5nIqn
https://dl.doubtnut.com/l/_FqCm4dhOyC5K

I 0 Watch Video Solution

2. Mention the mode of reproduction used by :

(i) Amoeba (ii) Planaria.

o Watch Video Solution

3. Newly formed DNA copies may not be

identical at times. Give one reason.

o Watch Video Solution



https://dl.doubtnut.com/l/_FqCm4dhOyC5K
https://dl.doubtnut.com/l/_xSpoggCdprKw
https://dl.doubtnut.com/l/_ayHzxAaJaGp2

Self Assessment 1 Long Answer Type Questions

1. Describe the various steps involved in the

process of binary fission with the help of a

diagram.

° Watch Video Solution

2. Why do multicellular organisms use complex

way of reproduction?

o Watch Video Solution



https://dl.doubtnut.com/l/_K1AO1yBDsIXI
https://dl.doubtnut.com/l/_TnxOWqNLYbrL

Self Assessment 2 Multiple Choice Questions

1. The process of development of seedling

from an embryo under suitable condition is

called

A. Regeneration

B. Pollination

C. Germination

D. Dormancy

Answer:



https://dl.doubtnut.com/l/_eD1tzhiE1LrY

\ o Watch Video Solution

2. Which of the following statement is

incorrect about pollination?

A. It precedes fertilization.

B. It follows fertilization.

C.It brings male and female gametes

closer.

D. It introduces variations in plants.


https://dl.doubtnut.com/l/_eD1tzhiE1LrY
https://dl.doubtnut.com/l/_bUQ6vAr8HbkC

Answer:

o Watch Video Solution

3. What is the function of part labelled as A?

A. It produces pollen grains.


https://dl.doubtnut.com/l/_bUQ6vAr8HbkC
https://dl.doubtnut.com/l/_kUnAtG0aYSke

B. It is the passage of pollen tube

C. It contains ovules

D. It acts as food store.

Answer: A

o Watch Video Solution

Self Assessment 2 Passage Diagram Based

Questions



https://dl.doubtnut.com/l/_kUnAtG0aYSke

1. Study the diagram given below and answer

the following questions.

A. Name the part labeled as A.

B. What is the role of part labeled as B?


https://dl.doubtnut.com/l/_kgXmW76acoQi

C. How many male gametes are produced

by each pollen grain

D. What happens to the label A which falls

on a suitable stigma.

Answer:

° Watch Video Solution

Self Assessment 2 Assertion And Reason Type

Questions



https://dl.doubtnut.com/l/_kgXmW76acoQi

1. Assertion (A) : Double fertilization is unique

to angiosperms.

Reason (R): Triple fusion occurs in both

fertilization.

A. Both assertion (A) and reason (R) are

true and reason (R) is the correct

explanation of assertion (A).

B. Both assertion (A) and reason (R) are

true but reason (R) is not the correct

explanation of assertion (A).


https://dl.doubtnut.com/l/_XuFojlYGK4i1

C. Assertion (A) is true but reason (R) is

false.

D. Assertion (A) is false but reason (R) is

true

Answer:

o Watch Video Solution

2. Assertion (A): An embryo is formed from

fertilized egg


https://dl.doubtnut.com/l/_XuFojlYGK4i1
https://dl.doubtnut.com/l/_wtQWn7qgeMw7

Reason (R): A monocot embryo comprises

embryonal axis with two cotyledons.

A. Both assertion (A) and reason (R) are

true and reason (R) is the correct

explanation of assertion (A).

B. Both assertion (A) and reason (R) are

true but reason (R) is not the correct

explanation of assertion (A).

C. Assertion (A) is true but reason (R) is

false.


https://dl.doubtnut.com/l/_wtQWn7qgeMw7

D. Assertion (A) is false but reason (R) is

true

Answer:

° Watch Video Solution

Self Assessment 2 Very Short Answer Type

Questions

1. Give an example of a flower which contains

both stamens and carpels.



https://dl.doubtnut.com/l/_wtQWn7qgeMw7
https://dl.doubtnut.com/l/_lD6pGTfV0Q8l

I D Watch Video Solution

2. In a germinating seed, which parts are

known as future shoot and future root ?

o Watch Video Solution

3. In a flowering plant, summarize the events

that take place after fertilization.

o Watch Video Solution



https://dl.doubtnut.com/l/_lD6pGTfV0Q8l
https://dl.doubtnut.com/l/_gFQXMmX46Hha
https://dl.doubtnut.com/l/_xMO9JCQAHWVF

Self Assessment 3 Multiple Choice Questions

1. Which of these is not a part of male

reproductive system?

A. Scrotum

B. Oviduct

C. Vas-deferens

D. Prostate gland

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_B9lRNjhBexgE

2. Name the hormone responsible for bringing

about changes in appearance seen in boys at

the time of puberty?

A. Estrogen

B. Adrenaline

C. Testosterone

D. Progesterone

Answer:

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_B9lRNjhBexgE
https://dl.doubtnut.com/l/_KpFpMP7n2IJE

3. The common duct for the passage of both

urine and semen in human male is

A. Ureter

B. Urethra

C. Epididymis

D. Vas-deferens

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_KpFpMP7n2IJE
https://dl.doubtnut.com/l/_9yuzYGRTE8Wx

Self Assessment 3 Passage Diagram Based

Questions

1. Understand the given flow chart and answer

the following questions.

Which of the following represents W, X, Y and

Z?


https://dl.doubtnut.com/l/_9yuzYGRTE8Wx
https://dl.doubtnut.com/l/_X7T8UrPprJKg

s v L |
Z IlJ-'lu."-.- b

(i) Gamete |Ovary |Foetus |Zygote
() Sperm  |Ovary |Zygote |Foetus
(i) Sperm  |Uterus |Foetus |Baby

'@v) |Gamete |Fallopian  |Zygote |Baby

wbe | |7 |

Where the process of fertilization does takes
place in female body?

What is menstruation?

° Watch Video Solution

Self Assessment 3 Assertion And Reason Type

Questions



https://dl.doubtnut.com/l/_X7T8UrPprJKg

1. Assertion (A): In human male, testes are
extra abdominal which are present inside
scrotum.

Reason (R) : Scrotum has a relatively lower
temperature needed for the production and

storage of sperms.

A. Both assertion (A) and reason (R) are

true and reason (R) is the correct

explanation of assertion (A).


https://dl.doubtnut.com/l/_qn9Te4xV7I8c

B.Both assertion (A) and reason (R) are

true but reason (R) is not the correct

explanation of assertion (A).

C. Assertion (A) is true but reason (R) is

false.

D. Assertion (A) is false but reason (R) is

true

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_qn9Te4xV7I8c
https://dl.doubtnut.com/l/_rQttZIcZyKu1

2. Assertion (A): Surgical methods are most

effective methods of contraception.

Reason (R) : Surgical method blocks gametes

transport and hence prevent fertilization.

A. Both assertion (A) and reason (R) are

true and reason (R) is the correct

explanation of assertion (A).

B. Both assertion (A) and reason (R) are

true but reason (R) is not the correct

explanation of assertion (A).


https://dl.doubtnut.com/l/_rQttZIcZyKu1

C. Assertion (A) is true but reason (R) is

false.

D. Assertion (A) is false but reason (R) is

true

Answer:

° Watch Video Solution

Self Assessment 3 Very Short Answer Type

Questions



https://dl.doubtnut.com/l/_rQttZIcZyKu1

1. Name the organs producing sperms and ova

respectively in humans.

o Watch Video Solution

2. In the human female reproductive system

where does fertilization occur?

o Watch Video Solution



https://dl.doubtnut.com/l/_1LGdolL2KbEg
https://dl.doubtnut.com/l/_PhJW82z7YyMQ

3. If a woman is using a copper-T, place will it
help in protecting her from sexually

transmitted diseases?

o Watch Video Solution

Self Assessment 3 Long Answer Type Questions

1. Describe the role of prostate gland, seminal
vesicle and testes in the human male

reproductive system.

| e |


https://dl.doubtnut.com/l/_rxq3zGzjZYEB
https://dl.doubtnut.com/l/_mEVJ6IHaxTiS

& Wwatch Video Solution ]

2. How is the surgical removal of unwanted

pregnancies misused?

o Watch Video Solution

3. Explain the role of oral contraceptive pills in

preventing conception.

° Watch Video Solution



https://dl.doubtnut.com/l/_mEVJ6IHaxTiS
https://dl.doubtnut.com/l/_zuj5cizIhaeK
https://dl.doubtnut.com/l/_escGSEuEsbMz
https://dl.doubtnut.com/l/_pqkSCzLPUaLp

4. Draw the diagram of female reproductive
system and match and mark the part(s) :

(1) Where block is created surgically to prevent
fertilization

Where Copper - Tis inserted?

(iii) Inside which condom can be placed.

o Watch Video Solution

5. Why do more and more people prefer to use
condoms? What is the principle behind use of

condoms?



https://dl.doubtnut.com/l/_pqkSCzLPUaLp
https://dl.doubtnut.com/l/_8BYEq4eSDQzC

Watch Video Solution

Ncert Corner Intext Question

1. What is the importance of DNA copying in

reproduction?

O Watch Video Solution

2. Why is variation beneficial to the species but

not necessarily for the individual?

| oo |


https://dl.doubtnut.com/l/_8BYEq4eSDQzC
https://dl.doubtnut.com/l/_UlK6Oua5nFP9
https://dl.doubtnut.com/l/_UlIIEBoBWvOI

| & Watch Video Solution

3. How does binary fission differ from multiple

fission?

° Watch Video Solution

4. How will an organism be benefited if it

reproduces through spores?

o Watch Video Solution



https://dl.doubtnut.com/l/_UlIIEBoBWvOI
https://dl.doubtnut.com/l/_nctiGXHPRkGU
https://dl.doubtnut.com/l/_xYrtAQduPwpR
https://dl.doubtnut.com/l/_nY3BQFvplctZ

5. Can you think of reasons why more complex
organisms cannot give rise to new individuals

through regeneration?

o Watch Video Solution

6. Why is vegetative propagation practiced for

growing some types of plants?

o Watch Video Solution



https://dl.doubtnut.com/l/_nY3BQFvplctZ
https://dl.doubtnut.com/l/_q517RthOyHSN

7.Why is DNA copying an essential part of the

process of reproduction?

o Watch Video Solution

8. How is the process of pollination of

different from fertilisation?

o Watch Video Solution



https://dl.doubtnut.com/l/_gOIHyLRZFiRY
https://dl.doubtnut.com/l/_wcL3hzmu7Fvc

9. What is the role of seminal vesicles and

prostate gland?

o Watch Video Solution

10. What are the changes seen in girls at the

time of puberty?

o Watch Video Solution



https://dl.doubtnut.com/l/_KclvY7sbl1sY
https://dl.doubtnut.com/l/_N8N6BPDiu0ca

1. How does the embryo get nourishment

inside the mother's body?

o Watch Video Solution

12. If a woman is using a copper-T, place will it
help in protecting her from sexually

transmitted diseases?

o Watch Video Solution

Exercise Question


https://dl.doubtnut.com/l/_j7PxoXDTfaT2
https://dl.doubtnut.com/l/_gByWVGfglPT1

1. Asexual reproduction takes place through

budding in:

A. Amoeba

B. Plasmodium

C. Yeast

D. Leishmania

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_YBjzHCHx6Bhy

2. Which of the following is not a part of the

female reproductive system in human beings?

A. Ovary

B. Uterus

C. Vas-deferens

D. Fallopian tube

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_1q5d0MrgHlIu
https://dl.doubtnut.com/l/_KGbYaSOlzIXz

3. The anther contains:

A. sepals

B. ovules

C. pistil

D. pollen-grains

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_KGbYaSOlzIXz

4., What are the advantages of sexual

reproduction over asexual reproduction?

o Watch Video Solution

5. What are the functions performed by testes

in human beings?

o Watch Video Solution

6. Why does mensuration occur?



https://dl.doubtnut.com/l/_evcKCvECWrgc
https://dl.doubtnut.com/l/_dZXtEn2GTLyS
https://dl.doubtnut.com/l/_EU33Bk5uz2J2

o Watch Video Solution

7. Draw a labelled diagram of the longitudinal

section of a flower.

° Watch Video Solution

8. What are the different methods of

contraception?

o Watch Video Solution



https://dl.doubtnut.com/l/_EU33Bk5uz2J2
https://dl.doubtnut.com/l/_3LA5X2UiHpf4
https://dl.doubtnut.com/l/_d35e6MeCbNzF
https://dl.doubtnut.com/l/_JWXyRF2Q8jpo

9. How are the modes of reprdoction different

in unicellular and multicellular organisms?

° Watch Video Solution

10. How does reproduction help in providing

stability to populations of species?

o Watch Video Solution



https://dl.doubtnut.com/l/_JWXyRF2Q8jpo
https://dl.doubtnut.com/l/_5iPCy1lStzgy

1. What could be the reasons for adopting

contraceptive methods?

o Watch Video Solution

Ncert Exemplar Multiple Choice Questions

1. In the list of organisms given below, those

that reproduce by the asexual method are
(i) banana (ii) dog

(iii) yeast (iv) Amoeba


https://dl.doubtnut.com/l/_8vdtVfD9sHD6
https://dl.doubtnut.com/l/_MBczBv1KNmHe

A. banana

B. dog

C. yeast

D. Amoeba

Answer: B

o Watch Video Solution

2.In a flower, the parts that produce male and

female gametes (germ cells) are


https://dl.doubtnut.com/l/_MBczBv1KNmHe
https://dl.doubtnut.com/l/_mvWsVhPXr4VS

A. stamen and anther

B. filament and stigma

C. anther and ovary

D. stamen and style

Answer: C

o Watch Video Solution

3. Which of the following is the correct
sequence of events of sexual reproduction in a

flower?


https://dl.doubtnut.com/l/_mvWsVhPXr4VS
https://dl.doubtnut.com/l/_GoQD6s5R2v6p

A. Pollination, fertilization, seedling,

embryo

B. Seedling, embryo, fertilization,

pollination

C. Pollination, fertilization, embryo,

seedling

D. Embryo, seedling, pollination,

fertilization

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_GoQD6s5R2v6p

4. Offspring formed by asexual method of
reproduction have greater similarity among
themselves because

(i) Asexual reproduction involves only one
parent

(i) Asexual reproduction does not involve
gametes

(iii) Asexual reproduction occurs before sexual
reproduction

(iv) Asexual reproduction occurs after sexual

reproduction


https://dl.doubtnut.com/l/_GoQD6s5R2v6p
https://dl.doubtnut.com/l/_NO476Mv10P4c

A. (i) and (ii)

B. (i) and (iii)

C. (i) and (iv)

D. (iii) and (iv)

Answer: A

o Watch Video Solution

5. Characters transmitted from parents to

offspring are present in


https://dl.doubtnut.com/l/_NO476Mv10P4c
https://dl.doubtnut.com/l/_DL3C9oMRx53M

A. cytoplasm

B. ribosome

C. golgi bodies

D. genes

Answer: D

o Watch Video Solution

6. Characters that are transmitted from
parents to offspring during reproduction

show


https://dl.doubtnut.com/l/_DL3C9oMRx53M
https://dl.doubtnut.com/l/_slyPcshgjnLa

A. only similarities with parents

B. only variations with parents

C.both similarities and variations with

parents

D. neither similarities nor variations

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_slyPcshgjnLa

7. A feature of reproduction that is common to

Amoeba, Spirogyra and yeast is that

A. they reproduce asexually.

B. they are all unicellular.

C. they reproduce only sexually.

D. they are all multicellular

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_q1aD9gIQLnsk
https://dl.doubtnut.com/l/_fcBZKBVZaVMd

8. In Spirogyra, asexual reproduction takes

place by

A. breaking up of filaments into smaller

bits.

B. division of a cell into two cells.

C. division of a cell into many cells.

D. formation of young cells from older cells.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_fcBZKBVZaVMd
https://dl.doubtnut.com/l/_ggqPN0ZFLwaK

9. The ability of a cell to divide into several

cells during reproduction in Plasmodium is

called

A. budding

B. reduction division

C. binary fission

D. multiple fission

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ggqPN0ZFLwaK

10. The correct sequence of reproductive

stages seen in flowering plants is

A. gametes, zygote, embryo, seedling

B. zygote, gametes, embryo, seedling

C. seedling, embryo, zygote, gametes

D. gametes, embryo, zygote, seedling

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_gb4Ocxgfv2H7
https://dl.doubtnut.com/l/_Lb5f5iZWzxl6

11. The number of chromosomes in parents

and offsprings of a particular species remains

constant. due to

A. doubling of chromosomes after zygote

formation

B. halving of chromosomes during gamete

formation

C.doubling of chromosomes after gamete

formation


https://dl.doubtnut.com/l/_Lb5f5iZWzxl6

D. halving of chromosomes after gamete

formation

Answer: B

o Watch Video Solution

12. In Rhizopus, tubular thread-like structures

bearing sporangia at their tips are called

A. filaments

B. hyphae


https://dl.doubtnut.com/l/_Lb5f5iZWzxl6
https://dl.doubtnut.com/l/_I5mlqdyVsaoE

C.rhizoids

D. roots

Answer: B

o Watch Video Solution

13. Vegetative propagation refers to formation

of new plants from

A. stem, roots and flowers

B. stem, roots and leaves


https://dl.doubtnut.com/l/_I5mlqdyVsaoE
https://dl.doubtnut.com/l/_lQpQ0P7Gx4Qd

C. stem, flowers and fruits

D. stem, leaves and flowers

Answer: B

o Watch Video Solution

14. Factors responsible for the rapid spread of
bread mould on slices of bread are
(i) large number of spores

(i) availability of moisture and nutrients in

bread


https://dl.doubtnut.com/l/_lQpQ0P7Gx4Qd
https://dl.doubtnut.com/l/_cpnDUnHiNqr6

(iii) presence of tubular branched hyphae

(iv) formation of round shaped sporangia

A. (i) and (iii)

B. (ii) and (iv)

C. (i) and (ii)

D. (iii) and (iv)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_cpnDUnHiNqr6

15. Length of pollen tube depends on the

distance between

A. pollen grain and upper surface of stigma

B. pollen grain on upper surface of stigma

and ovule

C. pollen grain in anther and upper surface

of stigma

D. upper surface of stigma and lower part

of style


https://dl.doubtnut.com/l/_GXp1a3aHtEp6

Answer: B

o Watch Video Solution

16. Which of the following statements are true
for flowers?

(i) Flowers are always bisexual

(i) They are the sexual reproductive organs
(iii) They are produced in all groups of plants

(iv) After fertilisation they give rise to fruits

A. (i) and (iv)


https://dl.doubtnut.com/l/_GXp1a3aHtEp6
https://dl.doubtnut.com/l/_cQS5QcUzTady

B. (ii) and (iii)

C. (i) and (iii)
D. (ii) and (iv)
Answer: D

o Watch Video Solution

17. Which among the following statements are
true for unisexual flowers?
(1) They possess both stamen and pistil.

(i) They possess either stamen or pistil.


https://dl.doubtnut.com/l/_cQS5QcUzTady
https://dl.doubtnut.com/l/_UYECn9dvXgBO

(iii) They exhibit cross pollination.

(iv) Unisexual flowers possessing only stamens

cannot produce fruits.

A. (i) and (iv)

B. (iii) and (iv)

C. (1), (i1i) and (iv)

D. (i), (iii) and (iv)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_UYECn9dvXgBO
https://dl.doubtnut.com/l/_oRYPiR7qyu2C

18. Which among the following statements are
true for sexual reproduction in flowering
plants?

(1) It requires two types of gametes.

(i1) Fertilisation is a compulsory event.

(iii) It always results in formation of zygote.

(iv) Offspring formed are clones.

A. (a) (i) and (iv)

B. (i), (ii) and (iv)

C. (i), (i) and (iii)

D. (i), (ii) and (iv)


https://dl.doubtnut.com/l/_oRYPiR7qyu2C

Answer: B

o Watch Video Solution

19. In the given figure the parts A, B and Care

sequentially

—

A. cotyledon, plumule and radicle

B. plumule, radicle and cotyledon


https://dl.doubtnut.com/l/_oRYPiR7qyu2C
https://dl.doubtnut.com/l/_fofdQHxPV0cr

C. plumule, cotyledon and radicle

D. radicle, cotyledon and plumule

Answer: C

o Watch Video Solution

20. Offspring formed as a result of sexual

reproduction exhibit more variations because

A. sexual reproduction is a lengthy process


https://dl.doubtnut.com/l/_fofdQHxPV0cr
https://dl.doubtnut.com/l/_F0qORfvQQnp1

B. genetic material comes from two

parents of the same species

C.genetic material comes from two

parents of different species

D. genetic material comes from many

parents

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_F0qORfvQQnp1

21. Reproduction is essential for living

organisms in order to

A. keep the individual organism alive

B. fulfill their energy requirement

C. maintain growth

D. continue the species generation after

generation

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_OFWVSuXyr39I

22. During adolescence, several changes occur

in the human body. Mark one change

associated with sexual maturation in boys

A. Loss of milk teeth

B. Increase in height

C. Cracking of voice

D. Weight gain

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_OFWVSuXyr39I
https://dl.doubtnut.com/l/_SsmoiqrUtSIE

23. In human females, an event that reflects

onset of reproductive phase is

A. growth of body

B. changes in hair pattern

C. change in voice

D. menstruation

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_SsmoiqrUtSIE
https://dl.doubtnut.com/l/_BAgbcyyvGhYn

24. In human males, the testes lie in the

scrotum, because it helps in the

A. process of mating

B. formation of sperm

C. easy transfer of gametes

D. all the above

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_a9YaI9cibUaj
https://dl.doubtnut.com/l/_ZJMg4RoNzYUI

25. Which among the following is not the
function of testes at puberty?

(i) Formation of germ cells (ii) Secretion of
testosterone

(iii) Development of placenta (iv) Secretion of

estrogen
A. (i) and (ii)
B. (ii) and (iii)
C. (iii) and (iv)

D. (i) and (iv)


https://dl.doubtnut.com/l/_ZJMg4RoNzYUI

Answer: C

o Watch Video Solution

26. The correct sequence of organs in the male

reproductive system for transport of sperms is

A. testis

B. testis

C. testis

D. testis

vas-deferens — urethra

ureter — urethra

urethra — ureter

vas - deferens — ureter


https://dl.doubtnut.com/l/_ZJMg4RoNzYUI
https://dl.doubtnut.com/l/_NWkpi6ruYrBc

Answer: A

o Watch Video Solution

27. Which among the following diseases is not

sexually transmitted?

A. Syphilis

B. Hepatitis

C. HIV-AIDS

D. Gonorrhoea


https://dl.doubtnut.com/l/_NWkpi6ruYrBc
https://dl.doubtnut.com/l/_KoEvdWVCEQI0

Answer: B

o Watch Video Solution

Ncert Exemplar Short Answer Questions

1. In a bisexual flower inspite of the young
stamens being removed artificially, the flower
produces fruit. Provide a suitable explanation

for the above situation.

o Watch Video Solution



https://dl.doubtnut.com/l/_KoEvdWVCEQI0
https://dl.doubtnut.com/l/_QjA0IaBuDgA3

2. Can you consider cell division as a type of
reproduction in unicellular organism? Give

one reason.

o Watch Video Solution

3. What is a clone? Why do offsprings formed
by asexual reproduction exhibit remarkable

similarity?

o Watch Video Solution



https://dl.doubtnut.com/l/_9XWwiqbJr4fr
https://dl.doubtnut.com/l/_tcjQYBHLonAB
https://dl.doubtnut.com/l/_YlRJeh0cV6wa

4. Explain how, offspring and parents of
organisms reproducing sexually have the same

number of chromosomes?

o Watch Video Solution

5. Colonies of yeast fail to multiply in water,
but multiply in sugar solution. Give one reason

for this.

o Watch Video Solution



https://dl.doubtnut.com/l/_YlRJeh0cV6wa
https://dl.doubtnut.com/l/_cN2JQlBOhOBf
https://dl.doubtnut.com/l/_OjDxcGUboAzQ

6. Why does bread mould grow profusely on a

moist slice of bread rather than on a dry slice

of bread?

o Watch Video Solution

7. Give two reasons for the appearance of
variations among the progeny formed by

sexual reproduction.

o Watch Video Solution



https://dl.doubtnut.com/l/_OjDxcGUboAzQ
https://dl.doubtnut.com/l/_cffHyQE52LdW

8. Would a Planaria cut vertically into two
halves regenerate into two individuals?
Complete the given figure D and E by

indicating the regenerated regions.

o Watch Video Solution



https://dl.doubtnut.com/l/_I31Ehn0Pf3n6

9. From the internet, gather information about
the chromosome numbers of five animals and
five plants. Correlate the number with the size
of organism and answer the following
questions :

Do larger organisms have more number of

chromosomes/cells?

o Watch Video Solution



https://dl.doubtnut.com/l/_t4XIXcibvMkM

10. From the internet, gather information
about the chromosome numbers of five
animals and five plants. Correlate the number
with the size of organism and answer the
following questions.

(a) Do larger organisms have more number of
chromosomes/cells?

(b) Can organism with fewer chromosomes
reproduce more easil than orgamsms with
more number of chromosomes?

(c) More the number of chromosomes/cells

greater is the DNA content. Justify.


https://dl.doubtnut.com/l/_40wYcBEzDwlW

° Watch Video Solution

1. From the internet, gather information
about the chromosome numbers of five
animals and five plants. Correlate the number
with the size of organism and answer the
following questions.

(a) Do larger organisms have more number of
chromosomes/cells?

(b) Can organism with fewer chromosomes
reproduce more easil than orgamsms with

more number of chromosomes?


https://dl.doubtnut.com/l/_40wYcBEzDwlW
https://dl.doubtnut.com/l/_oWGgFfXMKynN

(c) More the number of chromosomes/cells

greater is the DNA content. Justify.

° Watch Video Solution

12. In tobacco plant, the male gametes have
twenty four chromosomes. What is the
number of chromosomes in the female
gamete? What is the number of chromosomes

in the zygote?

° Watch Video Solution



https://dl.doubtnut.com/l/_oWGgFfXMKynN
https://dl.doubtnut.com/l/_K63SmT98AnGc
https://dl.doubtnut.com/l/_Rz9onUlrKlvy

13. Why cannot fertilisation take place in

flowers if pollination does not occur?

o Watch Video Solution

14. Is the chromosome number of zygote,
embryonal cells and adult of a particular
organism always constant? How is the

constancy maintained in these three stages?

° Watch Video Solution



https://dl.doubtnut.com/l/_Rz9onUlrKlvy
https://dl.doubtnut.com/l/_dri7R0ViwZXk
https://dl.doubtnut.com/l/_WE0dtD41W3PE

15. Where is the zygote located in the flower

after fertilisation?

o Watch Video Solution

16. Reproduction is linked to stability of

population of a species. Justify the statement.

° Watch Video Solution

17. How are general growth and sexual

maturation different from each other?


https://dl.doubtnut.com/l/_WE0dtD41W3PE
https://dl.doubtnut.com/l/_Kf2ClAu3pGFw
https://dl.doubtnut.com/l/_swfQeSRlhoB5

° Watch Video Solution

18. Trace the path of sperm during ejaculation
and mention the gland and their functions

associated with the male reproductive system.

° Watch Video Solution

19. What changes are observed in the uterus if

fertilisation does not occur?

o Watch Video Solution



https://dl.doubtnut.com/l/_swfQeSRlhoB5
https://dl.doubtnut.com/l/_XLsYeLgZhNis
https://dl.doubtnut.com/l/_B0i1p3e9RdQ0

20. What changes are observed in the uterus

subsequent to implantation of young embryo?

° Watch Video Solution

21. What are the benefits of using mechanical

barriers during sexual act?

o Watch Video Solution



https://dl.doubtnut.com/l/_B0i1p3e9RdQ0
https://dl.doubtnut.com/l/_d6bGDStCZmD1
https://dl.doubtnut.com/l/_RbWu769IwdmK

22. In the given figure label the parts and
mention their functions
(a)Production of egg (b) Site of fertilisation

(c)Site of implantation (d) Entry of the sperms

o Watch Video Solution



https://dl.doubtnut.com/l/_OkVd6KOYzEdX
https://dl.doubtnut.com/l/_xHK21sB21stD

23. What would be the ratio of chromosome
number between an egg and its zygote? How

is the sperm genetically different from the

egg?

o Watch Video Solution

24. Why are budding, fragmentation and
regeneration all considered as asexual types
of reproduction? With neat diagrams explain

the process of regeneration in Planaria.

° Watch Video Solution



https://dl.doubtnut.com/l/_xHK21sB21stD
https://dl.doubtnut.com/l/_dIJT432uuBaz

25. Write two points of difference between
asexual and sexual types of reproduction.
Describe why variations are observed in the

offspring formed by sexual reproduction.

o Watch Video Solution

26. Distinguish between pollination and
fertilisation. Mention the site and product, of

fertilisation in a flower. Draw a neat, labelled


https://dl.doubtnut.com/l/_dIJT432uuBaz
https://dl.doubtnut.com/l/_uX2cmLVr7ooO
https://dl.doubtnut.com/l/_VZzS9fMUpV1D

diagram of a pistil showing pollen tube

growth and its entry into the ovule.

° Watch Video Solution

27. Distinguish between a gamete and zygote.

Explain their roles in sexual reproduction.

o Watch Video Solution

28. Draw the diagram of a flower and label the

four whorls. Write the names of gamete


https://dl.doubtnut.com/l/_VZzS9fMUpV1D
https://dl.doubtnut.com/l/_IY8Sd0aOo9xL
https://dl.doubtnut.com/l/_qzoAgO0dfdPo

producing organs in the flower.

o Watch Video Solution

29. What is placenta? Mention its role during

pregnancy?

° Watch Video Solution

30. What are various ways to avoid pregnancy?

Elaborate any one method.

o Watch Video Solution



https://dl.doubtnut.com/l/_qzoAgO0dfdPo
https://dl.doubtnut.com/l/_ts9YvTb8y6XU
https://dl.doubtnut.com/l/_ctbyYe27St9t

3. How does fertilisation take place?
Fertilisation occurs once in a month.

Comment.

o Watch Video Solution

32. Reproduction is essentially a phenomenon
that is not for survival of an individual but for

the stability of a species. Justify.

o Watch Video Solution



https://dl.doubtnut.com/l/_ctbyYe27St9t
https://dl.doubtnut.com/l/_rxdr4fWM0PKH
https://dl.doubtnut.com/l/_Qs9UzzsK5NZF

33. Describe sexually transmitted diseases and

mention the ways to prevent them.

° Watch Video Solution

Board Corner Very Short Answer Type Question

1. Name the method by which Spirogyra

reproduces under favourable conditions. Is

this method sexual or asexual ?

| €8 l


https://dl.doubtnut.com/l/_Qs9UzzsK5NZF
https://dl.doubtnut.com/l/_H7Pe2UqA0lc4
https://dl.doubtnut.com/l/_IRsYUoWTaoK9

L Watch Video Solution J

2. How does Planaria reproduce? Is this

method sexual or asexual ?

o Watch Video Solution

3. How does Plasmodium reproduce. Is this

method sexual or asexual?

° Watch Video Solution



https://dl.doubtnut.com/l/_IRsYUoWTaoK9
https://dl.doubtnut.com/l/_QqPCbkj2SBhf
https://dl.doubtnut.com/l/_vGMzhy9alznw

Board Corner Short Answer Type Question

1. What is carpel ? Write the function of its

various parts.

o Watch Video Solution

2. Distinguish between pollination and
fertilization. Mention the site and the product

of fertilization in a flower.

o Watch Video Solution



https://dl.doubtnut.com/l/_7JrlrlA9fmZj
https://dl.doubtnut.com/l/_TyznCNf7fwgg

3. Why are budding, fragmentation and
regeneration, all considered to be asexual type

of reproduction?

o Watch Video Solution

4. With the help of neat diagrams, explain the

process of regeneration in Planaria.

° Watch Video Solution



https://dl.doubtnut.com/l/_XsSlqW6Hge05
https://dl.doubtnut.com/l/_Ii4M3geikDgL

5. Write one main difference between asexual
and sexual mode of reproduction. Which
species is likely to have comparactively better
chances of survival - the one reproducing
asexually or the one reproducing sexually ?

Give reason to justify your answer.

o Watch Video Solution

6. What happens when :

Accidently, Planaria gets cut into many pieces ?

| I


https://dl.doubtnut.com/l/_P9dNAJTRdeq0
https://dl.doubtnut.com/l/_xjO5jAeVkKGk

| ¥ Watch Video Solution

7.What happens when :

Bryophyllum leaf falls on the wet soil ?

o Watch Video Solution

8. What happens when :

On maturation sporangia of Rhizopus bursts?

o Watch Video Solution



https://dl.doubtnut.com/l/_xjO5jAeVkKGk
https://dl.doubtnut.com/l/_8QOftNh8WitZ
https://dl.doubtnut.com/l/_A0he74J6W0Fc
https://dl.doubtnut.com/l/_SocAOukTDqmU

9. State the basic requirement for sexual
reproduction ? Write the importance of such

reproduction in nature.

o Watch Video Solution

10. State the changes that take place in the
uterus when :
(i) Implantation of embryo has occurred.

(ii) Female gamete/egg is not fertilized.

° Watch Video Solution



https://dl.doubtnut.com/l/_SocAOukTDqmU
https://dl.doubtnut.com/l/_GSjNJscr5ppg
https://dl.doubtnut.com/l/_SXWpMv3sEQ28

1. List any four steps involved in sexual

reproduction and write its two advantages.

o Watch Video Solution

12. Reproduction is one of the most important
characteristics of living beings. Give three

reasons in support of the statement.

o Watch Video Solution



https://dl.doubtnut.com/l/_SXWpMv3sEQ28
https://dl.doubtnut.com/l/_V7NmE555AqXY

13. What is vegetative propagation ? State two
advantages and two disadvantages of this

method.

o Watch Video Solution

14. List three techniques that have been
developed to prevent pregnancy. Which one of
these techniques is not meant for males? How

does the use of these techniques have a direct


https://dl.doubtnut.com/l/_PpFXoacIGXKp
https://dl.doubtnut.com/l/_CB6GrHX0mfhm

impact on the health and prosperity of a

family?

° Watch Video Solution

15. Describe reproduction by spores in

Rhizopus.

o Watch Video Solution

16. List the two types of reproduction. Which

one of the two is responsible for bringing in


https://dl.doubtnut.com/l/_CB6GrHX0mfhm
https://dl.doubtnut.com/l/_TiQh9W7r4tOx
https://dl.doubtnut.com/l/_xfleUigkr7ED

more variations in its progeny and how ?

o Watch Video Solution

Board Corner Long Answer Type Question

1. Define pollination. Explain the different

types of pollination. List two agents of
pollination. How does suitable pollination lead

to fertilization?

O Watch Video Solution



https://dl.doubtnut.com/l/_xfleUigkr7ED
https://dl.doubtnut.com/l/_P6iYw2QBDWq1
https://dl.doubtnut.com/l/_lG3jpHk8iv4K

2. Identify the given diagram. Name the parts 1

to 5.

o Watch Video Solution

3. What is contraception ? List there advatages

of adopting contraceptive measures.


https://dl.doubtnut.com/l/_lG3jpHk8iv4K
https://dl.doubtnut.com/l/_baV51EFbVkCd
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o Watch Video Solution

4. Explain how sexual reproduction gives rise
to more viable variations than asexual
reproduction. How does this affect the
evolution of those organisms that reproduce

sexually?



https://dl.doubtnut.com/l/_baV51EFbVkCd
https://dl.doubtnut.com/l/_6EU202zIdbyO

I o Watch Video Solution

5. Write the function of following parts in
human female reproduction system :

(1) Ovary, (ii) Oviduct, (iii) Uterus.

o Watch Video Solution

6. Describe in brief the structure and function

of placenta.

o Watch Video Solution



https://dl.doubtnut.com/l/_6EU202zIdbyO
https://dl.doubtnut.com/l/_ACwMVditOeOr
https://dl.doubtnut.com/l/_zpsQtbfHVBS2

7. Name the organ that produces sperms as
well as secretes a hormone in human males.
Name the hormone it secretes and write its

functions.

° Watch Video Solution

8. Name the parts of the human female

reproductive system where fertilization occurs.

o Watch Video Solution



https://dl.doubtnut.com/l/_oQQVsNM54DLe
https://dl.doubtnut.com/l/_8pdGjJ0vELrF
https://dl.doubtnut.com/l/_PsIQiALpEpjq

9. Explain how the developing embryo gets

nourishment inside the mother's body.

° Watch Video Solution



https://dl.doubtnut.com/l/_PsIQiALpEpjq

